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QUESTION 1

Examine these statements and the result:

CREATE SEQUENCE customer seq CACHE 10;

SELECT customer seq.NEXTVAL FRCM DUAL;

NEXTVAL

Now examine this command:

ATTER SEQUENCE custaomer seds

What must replace MISSING CLAUSE for CUSTOMER_SEQ.NEXTVAL to return 117
A. NOCACHE

B. INCREMENT BY 10

C. START WITH 11

D. MINVALUE 11

E. CYCLE 11

Correct Answer: B

QUESTION 2

Which two queries execute successfully?

A. SELECT NULLIF(100, 100) FROM DUAL

B. SELECT COALESCE(100, NULL, 200) FROM DUAL
C. SELECT NULLIF(100, \VA\\) FROM DUAL

D. SELECT NULLIF(NULL, 100) FROM DUAL

E. SELECT COALESCE(100, \V'A\\') FROM DUAL

Correct Answer: AB
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QUESTION 3

View the Exhibit and examine the details of the PRODUCT _INFORMATION table.

Table CUSTOMERS
Table ORDERS Name Null? Type
OE Narie o Vo CUSTOMER_ID NOT NULL | NUMBER(8)
ORDEA D NOT NULL | NUMBER(12) CUST_FIRST_NAME | NOT NULL | VARCHAR2(20)
Table ORDER_ITEMS OREDER_DATE | NOT NULL | TIMESTAM(S) CUST_FIRST_NAME | NOT NULL | VARCHAR2(20)
Name Null? Type WTHLOCALTIMEZCNE CUST_ADDRESS CUST_ADDRESS_TYP
ORDER_ID | NOT NULL | NUMBER(12) . |oroER_moDE VARCHAR?(8) PHONE_NUMBERS PHONE_LIST_TIP
LINE_ITEM_ID | NOT NULL | NUMBER(3) CUSTOMER_ID | hOT NULL | NUMBER(5) ' *|NLS_LANGUAGE VARCHAR2(3)
PRODUCT_ID | NOT NULL | NUMBER(E) ORDER_STATUS NUMBER(2) NLS_TERRITORY VARCHAR2(30)
UNIT_PRICE HUMBER(S,2 ORDER_TOTAL NUMBER(3,2) CREDIT_LIMIT : NUMBER(3.2)
QUANTITY NUMBER(8) SALES_REP_ID NUMBER(5) CUST_EMAIL VARCHAR2(30)
PROMOTION_ID NUMBER(5) ACOOUNT_MGR_ID NUMBER(S)
CUST_GEO_LOCATION MDYS.SDO_GEOMETRY
; DATE_OF_BIRTH DATE
| MARITAL_STATUS VARCHAR2(20)
Table PRODUCT INFORMATION GENDER VARCHAR2(1)
Name Null? Type INOOME_LEVEL VARCHAR2(20)
PRODLET_ID NOT NULL | NUMBER(s)
PRODUCT_NAME VARCHAR2(50)
PRODLCT_DESCRIPTION VARCHAR2(2000) Takle PRODUCT DESCRIPTIONS
CATEGORY_ID NUMBER(2) Name Null? Type
WEIGHT_CLASS NUMBER(L) + «| PRODUCT_ID NOT NULL | NUMBER(6)
WARRANTY_PERIOD INTERVALYEAR(2) LANGUAGE_ID NOT NULL | VARCHAR2(3)
TOMONTH TRANSLATED_NAME NOT NULL | NVARCHAR2(50)
SUPPLER_ID NUMBER[E) TRANSLATED_DESCRIPTION | NOT NULL | NVARCHAR2(2000)
PRODLUCT_STATUS VARCHAR2(20)
LIST_PRICE NUMBER(3,2) _< Table INVENTORIES | Table WAREHOUSES
MIN_PRICE NUMBER(,2) Name Null? |Type Name Null? Type
CATALOG_URL VARCHAR2(50) PRODUCT_ID NOT NULL |NUMBER(E) . » | WAREHOUSE_ID NOT NULL | NUMBER(3)
WAREHOUSE_ID NOT NULL |NUMBER{3] WAREHOUSE_SPEC SY5.XMLTYPE
QUANTITY_ON_HAND | NOT NULL |NUMBER(s) WAREHOUSE_NAME VARCHAR2(35)
LOCATION_ID NUMBER(4)
WH_GEO_LOCATION MDY5.5D00_GEOMETRY

Evaluate this SQL statement:

SELECT TO_CHAR (list_price, \\'$9,999\\")

From product_information;

Which two statements are true regarding the output? (Choose two.)

A. A row whose LIST_PRICE column contains value 11235.90 would be displayed as ######.
B. A row whose LIST_PRICE column contains value 1123.90 would be displayed as $1,123.

C. Arow whose LIST_PRICE column contains value 1123.90 would be displayed as $1,124.

D. A row whose LIST_PRICE column contains value 11235.90 would be displayed as $1,123.

Correct Answer: AC

QUESTION 4
Which three are true about privileges and roles?

A. A role is owned by the user who created it.
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B. System privileges always set privileges for an entire database.

C. All roles are owned by the SYS schema.

D. A role can contain a combination of several privileges and roles.

E. A user has all object privileges for every object in their schema by default.
F. PUBLIC can be revoked from a user.

G. PUBLIC acts as a default role granted to every user in a database

Correct Answer: DEG

QUESTION 5

Which two statements are true about a self join?
A. The join key column must have an index.

B. It can be a left outer join.

C. It must be a full outer join.

D. It can be an inner join.

E. It must be an equijoin.

Correct Answer: BD
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